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The Headquarters of Asian
Infrastructure Investment Bank is

located at

(A) Beijing

(B) Kuala Lumpur |

(C) Singapore

(D) Manila

124" Constitutional Amendment Bil

took the form of

Constitutional Amendment Act.

(A) 101

(B) 102

(C) 103

(D) 106

India’s First National Film Museum was
setupin

(A) Chennai

(B) Mumbai

(C) Kolkata

(D) Pune

The World Consumer Rights 'Day,
2019 was observed on

(A) 10" June

B) 15" September

) 15" March

(D) 10" November

(2).

- Which one of the following persons
is the First Lokpal of India ?

(A) RanjAan Gogoi

(B) T.S.Thakur

(C) Pinaki Chandra Ghose
(D) Madan Lokur

As on today, which one of the
following countries is not amember
of European Union ?

(A) Belarus

(B) Latvia

(C) Malta

(D) Ireland

The name of the First Cyber

Crime Prevention Unit of India is

(A) CYBGRID !

(B) ZAPMETA

(C) VISHWAS

(D) AASHVAST

The name of the app launched by the

Reserve Bank of India to help visually

challenged to identify denomination

- of notes is

(A) MANI
(B) Uber
(C) Docs
(D) -Eyenote
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" The First Indian Equestrian who is

officially qualified to represent India

for the Tokyo Olympics : 13

(A) Jitendra Virwani
(B) Fouaad Mirza
(C) ImtiazAnees

(D) 1.J.Lamba

“Sukanya” Project, a self-defence

training to girl students is an initiative

14.

by - Police.
(A) Hyderabad
Patna
Kolkata

Delhi

The country which supplied ‘Apache

AH-64E’ helicopters to India is : 15.

(A)
(B)
(©)
(D)

USA
Russia
Francé

North Korea -

The hosting country to celebrate

World Environment Day, 2020 is

(A) bk

(B) Canada

(B)

(C) Rwanda
(D) Colombia

The present Chairman of Odisha

Public Service Commission is

(A) J.D.Sharma
(B) Brig. L. C. Patnaik

(C_) Rajat Das
(D) Ajit Kumar Patnaik

The First Arab country to be granted
full membership of Financial Action
Task Force (FATF)is
(A) Kuwait

(B) Oman

(C) SaudiArabia

(D) Dubai

The numerous caves on the
Udayagiri and Khandagiri hills of
Odisha testify to the :
(A) Continued existence of the Jain
faith in Odisha
Popularity of Buddhism in
QOdisha
(C) - Existence of both Buddhism

and Jainism in Odisha
Ashoka
contribution to the ancient art of
Odisha

made special

(D)
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16. Which of the following Ashokan

il

18.

19.

A

. (B)

(D)

inscriptions indicates that he did not

abolish the Capital Punishment ?
Minor Rock Edict |

Pillar Edict IV

Rock Edict Xl

(B)
(€)

(D)

Which of the following is a rock-cut-

Separate Kalinga Edict

sculpture of the Mauryan period ?
(A) Dhauli Elephant

Parkham Yaksha

(C)
(D)

Rampurwa Bull

The Lion from Sanchi

The Sun terhple built at Gaya during
the Sultanate period has an
inscription containing the-name ofa
Sultan twice. Who is this Sultan ?

(A)  Alauddin Khilji

(B) Qutbuddin Mubarak Khilji
(C)
(D)

Muhammad Bin Tughlaq
Firuz Shah Tughlaq

Nayankara system of the Vijaya-

| nagar Empire was modelled on the :

(A) Iqta assignments of the

Sultanate
(B) Warfare of the Sultans
(C)

Legal system of the Sultanate

None of these
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20.

217

22.

23.

- (B)

Who among the following Mughal

emperors, after his recovery from

_iliness, wore pearl earring as a token

of thanks to the Sufi Saint Khwaja
Moin-ud-din Chisti ? |
(A)
B)
(C)
(D)

Humayun
Akbar
Jahangir

Shah Jahan

~Khalsa, the ‘Society of the Pure’,

was founded in :

(A) 1605

(B) 1627

(C) 1699

(D) 1707

The Maratha claim of revenue for
protectionis called : -

(A) Sardeshmukhi

(B) Chéuth

(C)
(D)

Bombay (now Mumbai) acquiréd by

Jama

Abwab

the English originally belonged to
the :
(A) Portuguese
Dutch

Danes

(€
(D)

French
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“Mercantilist, Free Trade Mercantile

Capitalism and Finance Imperialism

are three successive phases of

British Colonialism.” This theory was

first formulated by whom ?
(A) Karl Marx

(B) Dadabhéi Naoroji

(C) R.C.Dutt

(D) B.R.Ambedkar

The main reason for the peasants to
join the 1857 Revoltwas :

(A) Inordinately high revenue
demands

(B) The revenue policies noi only
uprooted the ordinary peasants
but also destroyed the gentry of
the country ‘
(C) The beneficiaries of the new
revenue policies were also not

satisfied

(D) Allofthese

The only major industry in the hands
of Indian capitalists during the late
Nineteenth Century was :

(A)
(B)

Cotton textile
Jute
Iron and Steel

(D)

None of these .

1A/34
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27.

28.

29,

30.

G

The ‘All India Women's Conference’

(AIWC) was started in 1927 to :
(A) Promote women's education
(B) Increase women’s share in the
 legislatures

Enhance women's

(©)

employment

(D)

Campaign for women’s votina

rights

Who amongst the following was not
included in the 1. N. A. trial held in the
Red Fort, Delhi in 1945-46 ?

(A) G.S.Dhillon
(B)
(©)
(D)

Prem Sahgal
Mohan Singh
Shah Nawaz Khan

The'theory of Central Places was
propounded by 1

(A). W. Christaller

(B) A.Weber
(C) VonThunen

(D) Isard -

Who is credited to have discovered
theWestIndies?

Captain Cook .

(B) * John Chavot
(©)

(D)

Henry Hudson

Columbus
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31.

In which of the fbllowing geological 35

periods the volcanic lava flow took
place in the Deccan Plateau of

India ?

~(A) Ordovician

32.

- 33.

34.

(B) Cretaceous

(C) ~ Carboniferous

(D) Miocene . 36.

The Biack Forest Moutain is an

example of :

(A) Horst Mountain
(B) Block Mountain
(C) Volcanic Mountain

(D) Folded Mountain

37.

Which of the following oceans has

highest average salinity ?
(A) Pacific Ocean

(B) Indian Ocean

(C) Atlantic Ocean

(D) Arctic Ocean

Which ofthe following ocean currents 38.

is also known as the specific weather

current ?

(A) El-Nino
(B) Benguela
(C) Kuroshio
(D) Agulhas

RZ —1A/34 (6)

In which of the following atmospheric

layers ozone gas is concentrated ?

(A) Troposphere

(B) Stratosphere

(C) Mesosphere

(D) lonosphere

Which type of farming is prevalent in
South Bengal of India ?

(A) Wet Farming

(B) DryFarming

(C) Truck Fafming

(D) Ladang Farming

Which of the following is the greatest

shipping canal of the world ?
(A) Panama Canal

(B) SucCanal

(C) SuezCanal

(D) Kol Canal

Which of the following pairs is not

correctly matched ?
(A) Johannesburg — Gold Mining

(B) Magnitogorsk — Iron and Steel

(C) Detroit—Automobiles

(D) Bermingham — Shipbuilding

Contd.
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40. .

41.

42

Which of the following pairs is not

correctly matched ?

(A) Boston of the East -
Ahmedabad

(B) Capital of Cotton Textile —

Mumbai
(C) Manchester of India—Agra

(D) Electronic city — Bangalore

Which of the following Indian states

_has the greatest number of sugar

mills ?

(A) Maharashtra
(B) Uttar Pradesh
(C) Tamil Nadu

(D) Rajasthan

Which of the following rivers the
Shiva-samudram Hydel Project is

located at ?

(A} Mahanadi

(B) Godavari

(C) Krishna

(D) - Kaveri

The Jeep and Car manufacturing

company ‘Mahindra and Mahindra

Ltd.”is located at :
(A) Gudgawan

RZ - 1A/34

43.

44,

45,

(B) Chennai

(C) Pune

(D) Mumbai

India borrowed the idea of Directive

Principle of State Policy from the

Constitution of : -

(A) The Weimar Republic of
- Germany

(B) The Republic of Ireland

(C) The SouthAfrica

(D) None of these

Which one of the following is NOT a

fundamental right anymore ?

(A) Rightto property

(B) . Rightto Constitutional remedies

‘(_C.) _ Rightto move freely throughout

the country

(D) Rightto assemble peacefully

In which part of the Constitution does
the concept of welfare state find

elaboration ?
(A) Preamble
(B) Fundarﬁental Rights

(C) Directive Principle of State
- Policy

(D) Allof these
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46.

47.

48.

49.

(D)

Right to ‘Freedom of Religion’ is
guaranteed under the Constitution in
Articles :

(A) 12-19

(B) 19-21

(C) 25-28

(D) 21-28

Fundamental Rights are enshrined in
the Constitution of India in :

(A) Partl
(B)
(C)

Part Il
Part IV
PartV

The Gandhian Principles or
Philosophy have been.enumerated in

the:
(A)
(B)
(©)

Fundamental Rights
Preamble

Directive Principles of State

Policy
(D)

Fundamental Duties

Which one of the following sets of
bills is presented to the Parliament
along with the budget ? |

(A) - Direct Taxes Bill and Indirect

Taxes Bill
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52.

(B)

Contingency Bill . and

Appropriation Bill
(C) Finance Bill and Appropriation
Bill
(D)

Finance Bill and Contingency
Bill

50. Which among the following is the

51.

(8-

middle unit of Three Tier Panchayati
Raj System ?

A
(B)
(©)
(D)

In which chapter of the Indian

Gram Panchayat
Panchayat Samiti
Zila Parishad
Gram Sabha

Constitution there is a mention of
Uniform Civil Code ?

(A) Inthe Preamble
(B) In the chapter on Directive
Principle of State Policy
(C) Inthe chapter on Fundamental
Duties
-(D) Inthe chapter on Judiciary

In case of dispute between the two
houses of Indian Parliament over an
Ordinary Bill the case is referred to :

(A) The President of India

(B) The Supreme Court of India
(C) Jointsitting of both the Houses
(D) The Prime Minister of India

Contd.



53. Who represents the Goverment of
India while presenting the budget to
the Parliament ?

(A) The Prime Minister

(B) The Finance Minisfer

(C) The Speaker of the Lok Sabha

(D) The Chairman of the Rajya
"~ Sabha

54.~ When a Bill is reserved by the
Governor for the con.sideration of the
President, within what time he must
return the Bill ?

(A) Three months

(B) Sixmonths

(C) Oneyear

(D) There is no time limit

55. The Chief Election Commissioner of
India holds office for a period of :
(A) Sixyears
(B) During the pleasure of the

President
(C) For six years or till he attains
the age of 65 years
(D)- For five years or till the age of
60 years, whichever is earlier
RZ - 1A/34

56.

57.

58.

(9)

- (B)

The Supreme Court of India enjoys
the power of ‘Judicial review’ which

implies thatitcan :

(A) Review the working of the

subordinate courts
Review its own judgements

Initiate cases at its own

(©)
~ discretion
(D) Declare the laws passed by the
- |egislature and orders iésued

by the '

unconstitutional if

executive as
they
contravene any provision of the

Constitution

The doctrine of ‘basic structure’
emerged in the case of :

(A) A. K. Gopalan vs State of

Madras
B) Golaknath vs State of Punjab

(€)

Keshavananda Bharati Vs

State of Kerala

S. R. Bommai vs Union of India

(D)

Rourkela Steel Plant was set up with

assistance from:

(A
(B)
(C)

(D) .

USSR

West Germany
UK

USA

(Turn over)



59. When we argue that small industries

60.

61.

generate large volume of

employment, what we essentially

imply is that :

(A) The number of workers. in a
small unit will be larger than

those in a big unit

(B) The number of workers
employed per unit of capital is
large in small unit than in a big
unit

(C) The number of workers
employed to producé

consumers goods will be more

(D) Allof these

Which of the following states holds
second rank after Kerala in female

literacy as per Census 2011 ?
(A) Mizoram

(B) Tripura

(C) Goa

(D) Meghalaya

The official name of GST Bill is -

(A) The Constitution (1218t
Amendment) Bill, 2014 -

(B) The Constitution (1218t
Amendment) Bill, 2015

RZ-1A/34

62.

63.

64.

(C) . The Constitution (122"d
Amendment) Bill, 2014

(D) The Constitution (122"
Amendment) Bill, 2015

The Scheme ‘HRIDAY' is associated

with : |

(A) - Free heart treatment of poor
below poverty line |

(B) Cleaning of Ganga River

(C) Developing heritage cities-

(D) Developing Wi-Fi facility on

platforms

Union Government's ‘PAHAL’

- Scheme is related to :

(A) LPG subsidy trnasfer in

consumer’s account
(B) "Toilets construction in schools
(C) Promoting girls education

(D) . Ensuring health facilities to

senior citizens

The most popular definition of

sustainable development is given

by :

(A) World Development Report
(B) UNDP Report

(C) Brundtland

(D) IMF Report

. Contd.



65.

66.

67.

68.

HDI is entrusted with reference to :
(1) Life expectancy at birth
(2) Real GDP/per capita
(3) Infantmortality
(4) Morbidity

Select the correct answer using the

codes given below :
(A)  1and 2

(B) 2and3

(C) 3and4

(D) Allofthese

Which of the Five Year Plans has laid
emphasis on ‘faster, sustainable and
inclusive growth’ ?

(A) 11th Five Year Plan
(B) 12th Five Year Plan
(C) 10th Five Year Plan
(D) 9th Five Year Plan

What is the animal on the insignia of
the RBI?

(A) Lion

(B) Tiger

(C) Panther

(D) Elephant

Special Economic Zones (SEZ) havé
been created firsttime inthe :

(A) EXIM Policy, 2000

(B) EXIM Policy, 2005

RZ-1A/34

69.

70.

71.

(C) Industrial Policy, 1956
(D) . Industrial Policy, 1991

‘Hydro Carbon Vision, 2025’ is
associated with :

A) Storagre of Pétroleum products
(B) Euro—landEuro-Il
(C) Greenhouse effect

(D) None ofthese

Whatis Greenfield Investment ?

(A) A form of foreign direct
_investment where a parent
company starts a new ventur'e'
in a foreign country by °
constructing new operational
. facilities
(B) A form of foreign direct
investment where a company
purchases or leases existing
production facilities to launch a
new production activity

(C) Investment by non-resident
" Indians

(D) Investmentin share and debts
Which of the following is not related
to ‘Empowerment of women' ?

(A) Genderdevelopmentindex -
(B) Genderempowermentmeasure
(C)' Gender budgeﬁng

(D) Gender discrimination -

(Turn over)
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73.

74.

75.

Who coined the term Biodiversity ?
(A) E.O.Wilson

(B) R.D.Barnes

(C) N.Myers

(D) None of these

The “Montreaux Record” is a register

 of:

~ (A) Invasive alien species and their

ecological hazard outside their
native environment

(B) Wetland sites under the threats
of anthropogenic activities

(C) Endangered species of tropical
and sub-tropical fauna

(D) Coastal cities under direct
threat of; consequences of
global warming

Which of the following is the most
important greenhouse gas in the
earth’s atmosphere ?

(A) Nitrogeﬁ dioxide

(B) Carbon dioxide

(C) Watervapour

(D) Sulphurdioxide

Which of the following species on
earth is known as ‘Living fossil’
surviving for more than 150 billion
years ?

(A) Olive Ridley Turtles

RZ-1A/34

76.

il

78.

(B) Loggerheads -
(C) Crane
(D) Keneps Ridley

India awarded Certificate of

Commendation by CITES for its

effort to combat illegal wildlife trade
during 2017 for which of the following

operations ?

(A) Operation Thunderbifd

(B) Operation Save Kurma
(C) Operation Save a Life
(D) Operation Save Tigers

India’s first-ever conservation
reserve for black buck will come -up
in which city-state ?

(A) Bhopal, Madhya Pradesh

(B) Udaipur, Rajasthan

(C) Allahabad, Uttar Pradesh

(D) Kochi, Kerala

Who among the following Indian won |
the Whitely (Green Oscar) Awards, -
2017 ? |

(A) Sanjay Gubbi
(B) PrafullaSamantara

(C) Sharda Prasad Singh

| (D) N.Ramesh
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80.

81.

82.
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Which is the Greenest State of
India ?

(A) Assam

(B) Sikkim

(C) Arunachal Pradesh

(D) Mizoram

The use of microorganism to
degrade the harmful hazardous
pollutants in the environment is
called :

" (A) Microremediation

(B) Nanoremediation
(C) Bioremediation

(D) Biotransformation

Reformuiated gasoline (Oxygenated
fuel) with a 2 percent minimum
oxygen content is required during the
winter months in non-attainment
areas for carbon monoxide. Which
of the substances listed below may
be added to fuel to render it
oxygenated ?

(A) Lead
(B) Methyl tertiary butyl ether
(C) Organic magnesium

(D) Benzene

Structure connecting the foetus to
placentais:

(A) Umbilical cord

(13)

83.

84.

85.

(B) Amnion

(C) Bulbourethral gland

(D) - Chorion

The International Yoga Day is
celebrated on:

(A) 21%June

(B) 21%'March -

) 5" June

(D) 5" March

Hepatitis is a :

(A) | Protozoan disease
(B) Funga‘l disease
(C) Bacterial disease

(D) Viral disease

Which of the following is the richest
of Vitamin C ?

(A) Guava
(B) Pineapple
(C) Orange
(D) . Tomato

Batteries used in mobile and smart

phones are :

(A) Drycell

(B) Mercurycell

(C) Lithium-ion battery

' (D) Lead storage bhattery
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87. Whichis NOT correct for detergents ?
(A) Have all properties of soaps

(B) Can be used in soft and hard

water

(C) Cannot be used in acidic

medium

(D) Generally obtained from

vegetable oil

88. When abody falls freely towards the

earth, then its totoal energy :

92.

(A)  Increases
(B) Remains same
(C) Decreases

(D) First increases and then

decreases

89. The shérpness of a television image

is termed as its : ‘ 93.

(A) Colour

(B) Clarity

(©) Graphics
(D) Resolution

90. The blue colour of water in the sea is 04

dueto:

(A) Reflection of blue sky by sea

water

(B) Reflection of blue light by

impurities in sea water
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91.

(C) Scattering of blue light by water {

molecules

(D). Absorption of other colours
_ except blue by water molecules

Audible range for adult human beings
IS :

(A) Lessthan 20 Hz

(B) 20to 20,000 Hz

(C) 21,000 to 50,000 Hz |
(D) 100 to 120 kHz |

Human blood is red in colour
because of the presence of :

(A) Héemoglobin in red blood cells
(B) Haemoglobin in plasma

(C) Presence of haémocyanin in
RBC |

(D) Haemosiderin plasma

Which of the following chemical is
known as Vitamin C ?

(A) Citric acid
(B) Lactic acid
(C) Folic acid

(D) Ascorbic acid

Saffron is obtained fro_m e Nl

of plant.

(A) Leaves
(B) Stem
(C) Antherand whole flower

(D) Stigma and style
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95. Silkisa: '

(A) Synthetic product

..(Bj Animal product
(C) Plant product

| (D) Man-made product

96. Instrument used to observe changes

in solar systemiis :

(A) Hubble telescope

(B) Electron telescop
| (C) Microscobe
" (D) Both (B)and (C)

97. Fuse wire used

e

in electric

_ instruments are made up of : .

(A) Purezinc

(B) Pure lead

(C) Alloy of lead and tin

(D) Alloy of lead and zinc
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. 98, Rocketsaredeéigned tocarry:
(A) Payloads
(B) Scientificinstruments
(C) Satellites |
(D) Allofthese

99. EEG is used to measure the

~functioning of :
(A) Heart
(B)  Brain
(C) Skeletal musclel

(D) Allofthese

100. Acid rain is caused by increase in the

atmospheric concentration of :
(A) Ozone and dust

(B) SOandNO

(C) CO

(D) CFC
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